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1. The paper consists of three sections :- | 3. There is only one correct answer hence mark
Science (15 Questions), Mathematics one choice only.
(if? Que_stlons) and Mental ability 4, Darken your choice in OMR Sheet with Blue/
(15 Questions). Black Ball Point Pen.
2. All questions are compulsory and carry four o
marks each. One mark is deducted for wrong 5. Return the OMR Sheet to the invigilator at
the end of the exam.
answer.
SCIENCE

Comprehension/Passage (Q.1 & 2): The people
living in cities, villages, forests, etc., must be
educated about the importance of forests through
Government and Non-Government social agencies.
As a matter of fact, people must realise that cutting
a tree is a crime like killing a human being or an
animal. The forest department must be highly
organised. They should see to it that no illegal felling
of trees take place and the criminals must be brought
to justice. As we need wood for various purposes,
we cannot altogether stop cutting the forests.
Therefore, Forest Department must earmark the
trees in a given forest, so that only dead or very
old trees are cut. Furthermore, for cutting each
tree, two or more tree saplings should be planted
so that in 10 years or more they grow into fully
grown trees. As the forests provide grass for the
domestic animals, people living around the forest let
their animals in it for grazing. This should be
altogether stopped. It is because the grazing animals,
especially the goats and the sheep uproot the grass.
This leads to soil erosion. Instead, the grass should
be cut manually and then fed to the animals.
Timberwood should be used only where it is
absolutely necessary. For example, doors, windows,
chairs, tables, etc., can be easily made from plastics
and they are durable like wood.
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IO /T (Q.1 & 2): ¥Ry, Wil qAT SiTal anf H
& dTel ART BT RGN TAT TR ARG AT AeNei gRT
STl & Hed @ forg Riferd ox=m =Ry | et ® ol &
g HET ARV fb Ul T Il , U A AT {2l Siia &l
HRA ST ¥ B | 9 AT BT 31 @raRerd 81T =fey | S
IR B TSl @ ders R FRE 3@+ =nfee dor il o
it FoTT I1fRT | O fob B9 Tl Bl Mavhdhd &S b1l b
fore BIhY 2, 31a: B9 SiTall &Y BeTs AFd g 8] R Thd |
S9fery, g 4T T 31f¥d g & A1 o Usl I forgd oA
2T S2 &) PIeT 9V | 39 IIfIRE, T Us b PIc oIl
R Q1 A1 T N T =1fRY aifes 10 9 a1 1 H I got ger
BT Y o Fb | ST § TR U & forg w9 Bl § gwfory
TET Y& aTel ST UgRll BT TRA & fore B <d 8 | 379 il &t
QUi a5 BT A1f2Y | RIfd TR aTel Siwg, G 9ol il
S Tl Bl oTe Afed IWre Il § ROTdd JaT TiRe Bl 2 |
D! SIS, TN BT 81 F B B RN BT IR & w0 H 1
IRV | SR Tpel BT STANT B 1T SMragdehar § e
MY | TR & oy xare, Rasa, @, a1 anfy &1
Re® A SMAT | I91™7 ST Ahdl & T I ddhe! df a¥g

feors B1d 2 |
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The main reason behind the soil erosion in

grassland is:

(A) Cutting of grass (B) More temperature

(C) Over grazing (D) All

The alternative source of wood is:

(A) Metal (B) Plastic

(C) Both (D) None

In an accident the anterior pituitary of a four

year old boy was severely damaged but the

boy survived. What is likely to happen :-

(A) High levels of thyroxine will be released

(B) Spermatozoa will be released

(C) The boy will not grow much in height

(D) The growth of mammary glands will be

stimulated

Bacteria bearing flagella all over body are-

(A) Peritrichous (B) Atrichous

(C) Monotrichous (D) Cephalotrichous

The fusion of male and female gametes usually

takes place inside the :-

(A) uterus (B) ovary

(C) fallopian tubes (D) zygote

If a force of 100 N acts on an area of 10 m?,

the pressure equal :

(A) 100 N/m? (B) 10 N/m?

(C) 1000 N/m? (D) 1000 Nm?

How will the image formed by a convex lens

be affected, if the central portion of the lens

is wrapped in black paper, as shown

in the fig.

(A) No image will be formed

(B) Full image will be formed but

itis less bright

(C) Full image will be formed but without the

central portion

(D) Two images will be formed, one due to

each exposed half.

Pressure varies with force F as:

(A) F (B) F

(C) F? (D) F2

Mercury is closer to the sun than Venus. But

venus is hotter than Mercury because :

(A)Mercury has no atmosphere and Venus
has a thick atmosphere which can retain
the heat.

(B) Mercury is mostly made up of sedimentary
rocks while Venus contains igneous rocks.

(C) Mercury being closer to the sun, absorbs
the heat of the mercury.

(D)AIl of the above

1.

URT & HaMI H Ha&T AWRET BT G BRI & —

(A) BT BT BIeT (B) 1fre argH
(C) a1 =T (D) =t

AbS! BT Jhfeqd T & —

(A) &g (B) wiRed

(C) == (D) BT &l

IR Wl B Yb ged P Ueb geie ¥ AfH feged
e iU 8 S W W) ged1 99 ofrar ® | @/
B @ G & —

(A) S TR TR ATSRIRIT BT AT BT

(B) TORHCISIST BT SfAd BT

(C) v 1fds v el B

(D) % uferdl 1 SE el

W IR W FIlSTell o JaIRAT P Hed & —
(A) TgTED™ (B) srgTpd

(C) ArIgTEeH (D) Ribeiigrenrst

IR AT AIGT HD] P Herd+ AHFIG Bl 8 —
(A) oz # (B) 3vsRg H

(C) wenftas <ga (D) gt

¢ 100 N &1 U@ 9e1 10 m? &% IR BRI &, a9

T RIR & —

(A) 100 N/m? (B) 10 N/m?

(C) 1000 N/m? (D) 1000 Nm?

e Idd o g1 AT fafds

o ave warfaa grm afe o

BT Bfead T BTl BITST H Ut

Srar & R for # fezamar i @ —

(A) ®T$ ufafde &} =

(B) got ufafdd 7 W <Afdh I8 &9 =Hasiel 81 |

(C) T=irg 9T & famr gof wfafde a1 |

(D) <1 yfafdg a1, Ud & SR U IMe yelRia

BT |

T = w0 § 91 F & 317 gRdfda grar & —

(A) F (B) F!

(C) F2 (D) F-2

T TE, Yh TE D gl -l # G & SATQT §HI & | offhet

¥, 991 b o # et 19 B 8, aife —

(A) 3 R IRIAYSH T8l & AR Yeb WR BT argHvSd
BIAT 8, S ST BT 991 & § |

(B) 391 iR deTec! dceM 9§ a1 8 Sidfd e
T FeeHl W 9T B

(C) 39 g & 1T §HIU BIAT 2, 31d: 99 UT BT W7
BT AT B oIl 2 |

(D) SWRIad T
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10. The minimum distance required to produce a | 10. T JUE Ufeaf~ IO~ B & (1Y AqeddD JATH
distinct echo is EAU
(A) 10 m (B)11m (A) 10 m (B)11m
(C)15m (D)17m (CO)15m (D)17m
11. Tungsten is used in electric bulbs because: | 11.  <T¥e & IUANT g 9ea # foar Sar €, Fifd—
(A) it is sonorous (A) I IS BIeT 2
(B) it is metallic (B) Tg unfcass €11 &
(C) it has high tensile strength (C) Ig S=d T 8T &
(D) it has high density (D) u8 9= g9 &l &
12.  Metal which does not react with HCl is: 12.  org Sl HCl & ar fabar =181 &=l & -
(A) Ag (B) Mg (A) Ag (B) Mg
(C) Al (D) Fe (C) Al (D) Fe
13. Terrycot fibre is made using: 13. AP WM = & SN §RT 99771 SIaT 28—
(A) wood pulp (B) esters (A) B! DI Tl (B) $X
(C) acrylic (D) paper pulp (C) usifer®w (D) BITS &I Tl
14. Carbon monoxide burns with : 14, SET AFIRISS Sodl 8—
(A) No flame (B) Yellow flame (A) fa1 Sarenm & @ (B) dielt sarerr & e
(C) Blue flame (D) All of the above (C) el a1l @ &1y (D) i
15.  Which of the following gases can be liquefied | 15. = & & S0 ¥ T19 & 31=<1d &fad BT ST Fhell
under pressure? 27
(A) Propane and Methane (A) WU qAgT HIAH
(B) Methane and Ethane (B) ®9 qerr v
(C) Butane and Propane (C) = T Ui
(D) Butane and Methane (D) =g a1 HIA
MATHEMATICS

Comprehension/passage (Q.16 & 17):

16.

17.

18.
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Ifx=7-4J3

. 3.1
Find the value of X" + A3

(A) 2744 (B) 2740

(C) 2072 (D) 2702

. > 1

Find value of X -7

(A) -1123 (B) 83

(C) 112 (D) -6443

Ifa—; b—;then the
3-242 34242

value of a2 + b2 s -

(A) 34 (B) 35

(C) 36 (D) 37
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16.

17.

18.

IV /T (Q.16 & 17):

Ifx=7-4J3

3 1 .
X +/§3aﬂHFT§ﬁT$ﬁﬁQ

(A) 2744
(C) 2072

(B) 2740
(D) 2702

1
X -7 BT A ST BITY —

(A) -1123 (B) 843

(C) 112 (D) -6443

aﬁa=;b=;ﬂaa2+b2
3-242 3422

BT 99 A9 BINTT -

(A) 34 (B) 35

(C) 36 (D) 37
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19.

20.

21.

22,

23.

24,

25.

Which of the following numbers are cubes of
rational numbers?

2, E, 0.001331, 0.04
64 128

27 125
A) —,0.001331 B) —
(A) 64 (B) 128

(C) 0.04 (D) None of these
0\ 2
If 9HX32X(32) ~C7) _ ! thenm-nis:
33m %23 27
(A) 1 (B) 2
(C) 3 (D) 4
X y

If (b—c)(b+c—2a) (c—a)(c+a—2b)

zZ
= a—batb_20)/ e value of (x +y +2)

is-
(A)a+b+c (B) a2 + b2 + ¢2
(o0 (D) indeterminate

If 50 is subtracted from two-third of a
number, the result is equal to sum of 40
and one-fourth of that number. What is
the number ?

(A) 174 (B) 216

(C) 246 (D) 336

What least number must be subtracted from
each of the numbers 14, 17, 34 and 42 so
that the remainders may be proportional?
(A) O (B) 1

(€ 2 (D) 7

A tradesman sold an article at a loss of 20%.
Had he sold it for Rs 100 more, he should
have gained 5%. The cost price of the article
was :

(A) Rs 360 (B) Rs 400

(C)Rs 425 (D) Rs 450

ABCD is parallelogram as shown in figure. If
AB = 2AD and P is mid-point of AB, then

~CPD is equal to:

D C
A P B
(A) 90° (B) 60°
(C) 450 (D) 1350

19.

20.

21.

22,

23.

24,

25.

=1 o 9 P Gt oRey Gemsii &1 g P

ﬁ, E,0.001331, 0.04
64’ 128
27 125
2 .0.001331 =2
(A) 64° (B) 128
(C) 0.04 (D) 8 W By T8
0\ 2
af 9"x32x(37) -7 _ 1 % g9 m-n
33m 3 27
BTT—
(A) 1 (B) 2
(C) 3 (D) 4
gfa - = Y

(b—c)(b+c—2a)
(A)a+ b +c (B) a2 + b2 + c?
(C) o0 (D) aferiRa
If 50 T TS &1 b 2/3 9 AN H F "SEn
ST 8, S9&T URUm 40 dor S99l &
1/4 9 917 & INT & xR U 8idT 2, ol 98
T Fr g —

(A) 174 (B) 216

(C) 246 (D) 336

=T 14, 17, 34 70 42 % 7% § F P U 81
 BIE! GAT IS ST =A1fRY fob 2ythet FHIUR 8 |
(A) 0 (B) 1

(C) 2 (D) 7

TUd olEd AU o BT 20% Y B R J9aT 8, 98
I9 100 w9 =¥ H 9971 7, a1 SH 5% o™ ured
BT B | g &) AT e a7 off ?

(A) 360 %. (B) 400 %.

(C) 425 . (D) 450 .

ABCD T& FH=IR dgysl & oI b & 3 fawmar
2 | afk AB = 2AD T P, AB, &7 #ed fa=g B, a9
/CPD @ dRI&R BT —

(c—a)(c+a—2b)

T (X + Y + z) B HH BT —

D
A P B
(A) 90° (B) 60°
(C)450° (D) 1350
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MENTAL ABILITY

26.

27.

28.

29.

30.

31.

32.

33.

34.
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Clock : Time :: Thermometer: ?

(A) Heat (B) Radiation

(C) Energy (D) Temperature

If in a certain language MYSTIFY is coded as
NZTUJGZ, how is NEMESIS coded in that

language?
(A) MDLHRDR (B) OFNFTIT
(C) ODNHTDR (D) PGOKUGU

Mahesh walks 20 metres towards North. He
then turns left and walks 40 metres. He again
turns left and walks 20 metres. Further, he
moves 20 metres after turning to the right.
How far is he from his original position?

(A) 20m (B) 30m
(C) 50m (D) 60m
1,3, 7, 15,27, 63, 127
(A) 7 (B) 15
(C) 27 (D) 63
12 47 21
10 52 4
64 ? 24
(A) 16 (B) 40
(C) 62 (D) 83

Find the number of triangles.

(A) 20 (B) 24

(C) 29 (D) 32

If - means X, X means +, + means + and +
means -, then40 x 12 +3-6+60="7

(A) 7.95 (B) 16

(C) 4 (D) 479.95
If7x1=64;3x9=144

What is the value of 5 x 67?

(A) 22 (B) 55

(C) 66 (D) 121

If the day before yesterday was Saturday,
what will be the day after tomorrow?

(A) Wednesday (B) Saturday

(C) Sunday (D) Tuesday

26.

27.

28.

29.

30.

31.

32.

33.

34.

TS IaY ;o oHeR ¢ ?

(A) Heat (B) Radiation

(C) Energy (D) Temperature

afe ya Af¥@a wmer § MYSTIFY &1 NZTUIGZ dgd
2, 39 99T #§ NEMESIS &7 dad T 8RTT —

(A) MDLHRDR (B) OFNFTIT

(C) ODNHTDR (D) PGOKUGU

297 20 Hex IR Bl ARB Foldl 8, IqP dIE d8 I
Sl & AT 40 HIex Feldl & | g8 Y- 91¢ Foal & a2l
20 #eR Tl € | Y9 98 SR g+ & arg 20 Hle”
AT B, I8 31U+ aRcIfaes Reyfdr 31 o g3 2 |

(A) 20 = (B) 30 4.
(C) 50 . (D) 60 #.
1, 3, 7, 15, 27, 63, 127
(A) 7 (B) 15
(C) 27 (D) 63
12 47 21
10 52 4
64 ? 24
(A) 16 (B) 40
(C) 62 (D) 83
Fr{sit @1 Her 9d ST |
(A) 20 (B) 24
(C) 29 (D) 32

IS BT Aded X, X &1 Adeld +, + BT Adeld + Bl
TAT =+ BT Add —, dd 40x 12+3-6+60=7
(A) 7.95 (B) 16

(C) 4 (D) 479.95

gfe 7x1=64;3x9 =144

5 X 6? & A4 8N

(A) 22 (B) 55

(C) 66 (D) 121

IfT Tt A U areT o AMAR o1 | 31 a1t el &
q1g PHIAT fosT 8T —
(A) gEar

(C) faar

(B) wifFaR
(D) HiTerdr
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35.

36.

37.

38.

Pointing to a man, a woman said: "His mother
is the only daughter of my mother." How is
the woman related to the man?

(A) Mother (B) Daughter

(C) Sister (D) Grand mother
England is related to Atlantic Ocean in the
same way as Greenland is related to ...?...
(A) Pacific Ocean (B) Atlantic Ocean

(C) Arctic Ocean (D) Antarctic Ocean
In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives belows it.
Choose the correct alternative.
_bcc_ac_aabb _ab_ cc

(A) aabca (B) abaca

(C) bacab (D) bcaca

How many times in a day, the two hands of a
clock are at 90°?

(A) 4
(C) 22

(B) 12
(D) 44

Direction (Q.39 to Q.40): A pair of figures which
are related in some way is given below. Find out
the alternative whose figures are related in the
same way as

39.

40.

AL A

X)

(A) @H} (B) O%
(C)VA (D)

[

X)

w[J I w10
o[T] ® 110

35.

36.

37.

38.

U Afdd &1 3R SIRT HRd T ARGl dhadl
"D H AR WIS B RIS U gA B | Aften 39 afad
3 frd gpR Fefdd © ?

(A) et (B) g=

(C) sfes (D) wrg

STToIvS, Uedfed HENITR I Iefid 8, 399 IR Hoive
1 ¥ 9 foas Gdfa grm —

(A) IRIf%® FerR (B) Tedifcd AENINR

(C) adfed 8RR (D) 3reldicd FAEINR

o= qof Sroft &, o 9ot arquRerd 8, S 59 %9 ¥ g
MY & f& 1 g U fAder 4 9 e & | 921 fadhey

BT I DY —
_bcc_ac_aabb _ab_ cc
(A) aabca (B) abaca
(C) bacab (D) bcaca

U o1 # fbaell 9R, U& Gt @l 1 ggar 90° W Bl
gl

(A) 4
(C) 22

(B) 12
(D) 44

fader (Q.39 to Q.40): &G &1 Td J W W
ypR fear w21 fadem &1 wd HIfvie S osw g
i & Hdfd 2|

39.

40.

AL A

X)

(A) @H} (B) O%

[

X)

w0 w10
o] [0
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